Unique Auctions Catalogue 01 Mar 2017

- A Mardigra bicycle £20.00 £30.00 45 1 2 A Universal child's bike £10.00 - £20.00 46 3 A small snooker chairs £20.00 - £30.00 47 4 3 new folding chairs £10.00 - £20.00 48 A quantity of garden tools £10.00 - £20.00 49 5 A wooden bird house £10.00 - £20.00 6 50 7 A quantity of modern clothes airers £8.00 - £10.00 51 A modern ironing board and 2 cleaners £10.00 -52 8 £20.00 53 9 A Qualcast lawn mower £20.00 - £30.00 A mahogany glazed book case £20.00 - £30.00 10 54 11 An aluminium step ladder £10.00 - £20.00 55 An aluminium step ladder £10.00 - £20.00 56 12 3 cane conservatory chairs £10.00 - £20.00 13 57 14 An item of concrete 58 A pair of good floral prints £10.00 - £20.00 15 59 16 A print of orchids £10.00 - £15.00 60 17 An Amcor fan £10.00 - £20.00 61 18 An oil on canvas £10.00 - £20.00 62 19 An old print of a farm yard £10.00 - £15.00 63 20 A pair of highland cattle prints £10.00 - £20.00 64 An old display cabinet £10.00 - £20.00 21 65 22 An old silver foil picture £5.00 - £10.00 66 23 A large oil on canvas £20.00 - £30.00 67 24 A still life print of fruit £10.00 - £20.00 68 25 A white 3 drawer chest £10.00 - £20.00 69 A power brush £10.00 - £20.00 26 70 27 A gilt framed picture £10.00 - £20.00 71 A flower picker £10.00 - £20.00 28 29 A small gate leg table £20.00 - £30.00 72 30 A small gate leg table £20.00 - £30.00 31 A mahogany gate leg table £20.00 - £30.00 73 32 A copper warming pan £10.00 - £20.00 74 33 A copper warming pan £10.00 - £20.00 75 34 No Lot 76 35 A retro brass and iron plant stand £10.00 - £20.00 77 36 A quantity of pictures £10.00 - £20.00 78 37 2 copper plaques £10.00 - £20.00 79 A Hotpoint 8kg tumble drier £20.00 - £30.00 38 80 39 A box of clocks £10.00 - £20.00 81 40 A Frigidaire spin drier £10.00 - £20.00 82 41 An automatic washing machine £20.00 - £30.00 83 42 A quantity of display boards £10.00 - £20.00 84
- 43 A microwave oven £10.00 £20.00
- 44 A fridge freezer £20.00 £30.00

- 45 An old deck chair £10.00 £20.00
- 46 2 boxes of tools etc £10.00 £20.00
- 47 A large quantity of videos etc
- 48 A quantity of walking sticks
- 49 5 boxes of good china
- 50 A collection of old scales and weights
- 51 A box of old collectables
- 52 3 old sash clamps
- 53 2 aluminium step ladders and a wooden step ladder
- 54 A child's garden seat £10.00 £20.00
- 55 A box of sundries
- 56 A box of good sundries
- 57 A wooden step ladder £10.00 £20.00
- 58 3 boxes of new pottery books
- 59 A quantity of linen £10.00 £20.00
- 60 A quantity of motoring items £10.00 £20.00
- 61 2 boxes of good sundries £10.00 £20.00
- 62 A mixed lot of brass ware including scales
- 63 A quantity of good china including biscuit barrel £10.00 £20.00
- 64 3 boxes of cottages etc £20.00 £30.00
- 65 A linen box of puzzles £10.00 £20.00
- 66 2 fans and a foot bath £20.00 £30.00
- 67 2 shooting sticks
- 68 A Victorian carver chair
- 69 A Victorian bevelled mirror in oak frame
- 70 A pine display cabinet
- 71 A large quantity of garden items in concrete £10.00 - £20.00
- 72 A large copper embossed plaque of elephants £30.00 £40.00
- 73 A set of 3 flower pictures £10.00 £20.00
- 74 A vacuum cleaner
- 75 An oak lead glazed book case £20.00 £30.00
- 76 A old bedside cabinet and a wicker crib
- 77 A new camping stove etc
- 78 Spare lot
- 79 A Victorian blue and white tea set
- 30 3 good items including iron
- 81 A quantity of commemorative cups etc
- 82 Spare lot
- 83 A teddy bear and chair
- A Victorian oil on canvas £20.00 £30.00
- 85 A bird bath

- 86 A quantity of walking sticks £10.00 £20.00
- 87 A quantity of glass ware
- 88 3 old bedroom chairs
- 89 A metal adjustable flower stand $\pounds 10.00 \pounds 20.00$
- 90 A quantity of walking sticks £10.00 £20.00
- 91 Spare lot
- 92 3 boxes of light bulbs etc £10.00 £20.00
- 93 A good box of sundry china £10.00 £20.00
- 94 A box of soft toys £10.00 £20.00
- 95 Sapre lot
- 96 A mahogany wall unit £20.00 £30.00
- 97 A drop down desk £10.00 £20.00
- 98 An old transfer printed babies cot £10.00 £20.00
- 99 A teak cabinet come desk £10.00 £20.00
- 100 A mixed lot of interesting including towel rail £10.00 - £20.00
- 100A A mahogany double D end table with one leaf £20.00 £30.00
- 100B A box of clean stainless kitchen ware £10.00 £20.00
- 100C A wooden bedside cabinet £10.00 £20.00
- 100D A box containing new brass screw hooks etc £10.00 - £20.00
- 100E A box of collector's plates £10.00 £20.00
- 100F A box of interesting books £8.00 £10.00
- 100G An old kettle, car pumps etc £10.00 £20.00
- 100H A steamer, sold as seen £5.00 £10.00
- 100J An old linen box £10.00 £20.00
- 100K A metal tool box and tools £10.00 £20.00
- 100L A box of kitchenware £10.00 £20.00
- 100M 2 boxes of china, speakers etc £10.00 £20.00
- 100N No Lot
- 100P A box of screws, kneeling stool etc £10.00 £20.00
- 100Q A box of garden tools etc £10.00 £20.00
- 100R A drop leaf kitchen table £10.00 £20.00
- 100S An old table £10.00 £20.00
- 100T A table lamp £10.00 £20.00
- 100U An old water colour £10.00 £20.00
- 100V An old Pear's print £10.00 £20.00
- 100W A large mirror £10.00 £20.00
- 100X A quantity of kitchen items, glass etc £10.00 £20.00
- 100Y A quantity of Victorian dinner ware £10.00 £20.00
- 100Z A pair of cast iron bed ends £10.00 £20.00
- 101 A Panasonic vacuum cleaner, in working order £10.00 - £20.00
- 102 3 old linen boxes £10.00 £20.00

- 103 3 boxes of sundries £10.00 £20.00
- 104 3 coaching prints £10.00 £20.00
- 105 2 bottle racks £10.00 £20.00
- 106 A collection of china lamps £10.00 £20.00
- 107 A pine book case and a side table £10.00 £20.00
- 108 A set of old scales £10.00 £20.00
- 109 4 Victorian hand painted plates and 2 comports £10.00 - £20.00
- 110 A Victorian fender and a set of Victorian fire irons £20.00 - £30.00
- 111 A large butterfly clock £10.00 £20.00
- 112 A large oil on canvas £10.00 £20.00
- 113 A dining table and 6 chairs £20.00 £30.00
- 114 A large quantity of assorted Denby ware some a/f £10.00 - £20.00
- 115 16 glass Bonsai trees £10.00 £20.00
- 116 Part Harry Wheatcroft rose Paragon tea set and gilt porcelain tea set £15.00 £20.00
- 117 Quantity of collectors tins £10.00 £20.00
- 118 A large quantity of glass and porcelain bells etc. £10.00 - £20.00
- 119 A mahogany effect display cabinet £20.00 £40.00
- 120 2 motorbike models, ships wheel clock etc. £10.00 - £20.00
- 121 Collection of old toys etc. inc. nodding dogs £10.00 - £20.00
- 122 Quantity of clocks £10.00 £20.00
- 123 A large quantity of trophies £10.00 £20.00
- 124 A framed and glazed RAF 1st edition print of Spitfire by Robert Taylor signed Douglas Bader & Johnnie Johnson (glass a/f) £10.00 - £20.00
- 125 2 Juliana peregrine falcons £10.00 £20.00
- 126 Quantity of silver plated (Christening) money boxes £10.00 - £20.00
- 127 2 shelves of china etc. some a/f £10.00 £20.00
- 128 Quantity of blow lamps etc. £10.00 £20.00
- 129 3 Framed and glazed medieval themed prints £10.00 - £20.00
- 130 2 shelves of dvds & cds £10.00 £20.00
- 131 Quantity of pansy plates, oriental pots, Doulton bramley hedge plate etc. £10.00 £20.00
- 132 3 small cd cabinets and contents £10.00 £20.00
- 133 Framed and glazed print £10.00 £20.00
- 134 A collection of 6 prints and pictures including a limited edition £10.00 £20.00
- 135 5 cuckoo clocks and 1 other £20.00 £30.00
- 136 Good lot of mythology style books £20.00 £30.00
- 137 A swivel top hall table £20.00 £30.00
- 138 A box of misc, toys inc, a spinning top £10.00 -£20.00

- 139 3 wooden items £10.00 £20.00
- 140 2 shelves of dvds and cds £10.00 £20.00
- 141 2 shelves of interesting corkscrews £20.00 £30.00
- 142 3 framed and glazed 3d pictures and a quantity of fairy prints £10.00 £20.00
- 143 A cuckoo clock £10.00 £20.00
- 144 A tennis themed framed and glazed picture £10.00 - £20.00
- 145 A wooden chest a/f £10.00 £20.00
- 146 2 framed and glazed pictures £20.00 £30.00
- 147 A quantity of various pictures, prints etc. £10.00 -£20.00
- 148 48 sets of dog salt and pepper pots £20.00 -£30.00
- 149 A quantity of small oil lamps £20.00 £30.00
- 150 Sewing items and baskets £10.00 £20.00
- 151 A Panasonic video recorder £10.00 £20.00
- 152 A quantity of war illustrated magazines £10.00 £20.00
- 153 Doc Holladay figure and 1 other £10.00 £20.00
- 154 Quantity of silver plated items inc. tea sets £20.00 - £30.00
- 155 A large quantity of clocks £10.00 £20.00
- 156 3 sets of cast iron kitchen scales £20.00 £30.00
- 157 A Panasonic video recorder £10.00 £20.00
- 158 A quantity of dolls £20.00 £30.00
- 159 Quantity of cigarette cases £20.00 £30.00
- 160 Quantity of glass ware inc. vases etc. £10.00 -£20.00
- 161 Brass balance scale planters, sundial and anchor £10.00 £20.00
- 162 A box of picture frames £10.00 £20.00
- 163 A Royal Doulton Falstaff character jug and 2 others £10.00 £20.00
- 164 5 gone with the wind plates and 1 other £10.00 £20.00
- 165 A bicycle clock and a penny farthing clock £10.00 -£20.00
- 166 2 new duvet sets, a sheet etc. £10.00 £20.00
- 167 Alfred Meakin teapot and other china £10.00 £20.00
- 168 A digital wall safe £10.00 £20.00
- 169 16 glass Bonsai trees £10.00 £20.00
- 170 A porcelain figure of a knight £10.00 £20.00
- 171 A pair of signed watercolours South East Asian water scenes £10.00 £20.00
- 172 Blanc De Chine boy on a dolphin dish £10.00 £20.00
- 173 5 ornamental resin clocks by Juliana etc. £10.00 -£20.00

- 174 A Victorian octagonal foot stool and a wooden moneybox £10.00 - £20.00
- 175 A pair of boxed Rockingham crystal brandy glasses and other glass etc. £10.00 £20.00
- 176 Large quantity of glass chandelier droppers, mainly black £20.00 - £30.00
- 177 Large quantity of small copper ornaments inc. kettles, watering cans etc. £20.00 - £30.00
- 178 A Hornsea dinner set £20.00 £30.00
- 179 Shelf of brassware inc. ornamental rifles £10.00 £20.00
- 180 Box of linen and sewing items £10.00 £20.00
- 181 2 oil lamps, 1 brass and 1 copper £10.00 £20.00
- 182 A 7 piece cut glass drinks set £10.00 £20.00
- 183 A shelf of mythical items inc. pewter and resin ornaments £10.00 £20.00
- 184 8 various cameras including Ricoh SLR £15.00 -£20.00
- 185 A shelf of china inc. cakestands, storage jars etc. £10.00 - £20.00
- 186 A vintage Bush radio, cd player etc. £10.00 £20.00
- 187 A box of costume dolls, model houses etc. £10.00 - £20.00
- 188 3 brass horse models and a glazed tray £10.00 -£20.00
- 189 A resin ornament of a snowy owl £10.00 £20.00
- 190 A shelf of silver plate items inc. trays £10.00 £20.00
- 191 A large quantity of Pendelfin rabbits, dogs etc. Some a/f £30.00 - £40.00
- 192 Quantity of old brass ware £10.00 £20.00
- 193 Quantity of silver plates teaspoons etc. inc. enamel spoons £10.00 - £20.00
- 194 A quantity of wooden ducks, pottery ducks and wooden cats £10.00 £20.00
- 195 Quantity of collectors dolls inc. some musical £20.00 £30.00
- 196 A collection of paperweights £10.00 £20.00
- 197 1930's mantle clock and 2 others £20.00 £30.00
- 198 Large quantity of drinking glasses etc. £10.00 £20.00
- 199 A 21 piece German teaset £10.00 £20.00
- 200 2 old irons £10.00 £20.00
- 201 A box of brass items inc.horse brasses £10.00 £20.00
- 202 Quantity of wooden ware inc. shelf, tray, magazine rack etc. £10.00 £20.00
- 203 Quantity of old toys inc. Airfix, Meccano etc. £10.00 - £20.00
- 204 Quantity of cigarette cases £10.00 £20.00

- 205 2 brass horse and carriages £10.00 £20.00
- 206 A boxed Goebel cup and saucer, Lladro plaque etc. £10.00 £20.00
- 207 A boxof misc. belt buckles and cowboy related paraphernalia £10.00 £20.00
- 208 A shelf of various mirrors £10.00 £20.00
- 209 A brass tea/coffee set and a collection of other brass items £10.00 £20.00
- 210 A collection of Pendelfin rabbits and a fruit shop some a/f £20.00 £30.00
- 211 A quantity of glasses and decanters £10.00 -£20.00
- 212 A collection of books £10.00 £30.00
- 213 A quantity of jigsaws £10.00 £20.00
- 214 Vintage hammered copper ladle with a worn nickel plated finish £10.00 £20.00
- 215 Quantity of porcelain dolls £10.00 £20.00
- A silver plated base metal planter £10.00 £20.00
- 217 Retro coffee table/magazine holder £10.00 £20.00
- A framed and glazed silk panel £10.00 £20.00
- 219 An Eastern brass and wood table lamp
- 220 An old set of balance scales £10.00 £20.00
- 221 3 coloured glass bowls £10.00 £20.00
- 222 Brass bicycle pumps, grease guns etc. £20.00 -£30.00
- 223 Quantity of old cameras inc. 110, 35mm & digital examples £20.00 £30.00
- 224 2 brass oil lamps with 1 shade £15.00 £25.00
- A quantity of Pendelfin rabbits etc. £20.00 £40.00
- 226 Large old bible by the Rev Jamieson with illustrations £20.00 £30.00
- 227 3 wrought iron framed clocks £10.00 £20.00
- 228 Water colour framed still life and one other £20.00 £30.00
- 229 Glass claret jug etc. £10.00 £20.00
- 230 Retro teak tiled top coffee table £10.00 £20.00
- A lark violin with case £20.00 £30.00
- 232 2 oil lamps £10.00 £20.00
- 233 Box of metalware inc. nut crackers, cutlery etc. £10.00 - £20.00
- 234 Quantity of glass bowls and vases £10.00 £20.00
- 235 Set of brass weights £10.00 £20.00
- 236 A Royal Albert Old Country Rose telephone £10.00 - £20.00
- 237 A set of black finished nest of tables £10.00 £20.00
- 238 Quantity of sword styled letter openers £10.00 £20.00
- 239 A metal wall plaque depicting hunting dogs and a copper and brass hunting horn £10.00 £20.00

- 240 A box of old marbles £10.00 £20.00
- 241 A Swan electric copper kettle on a cast iron and brass trivet £10.00 - £20.00
- 242 A quantity of belts and decorative buckles £20.00 -£30.00
- 243 A part Duchess and Royal Vale teaset £10.00 -£20.00
- A retro coffee table £10.00 £20.00
- 245 A Pendelfin base, christening set and collection of rabbits, some a/f £40.00 £50.00
- 246 A collection of 22 items of brassware £10.00 -£20.00
- 247 A collection of old tins inc. a petrol tin £10.00 £20.00
- 248 A bronze buddah with inscription on back £70.00 £80.00
- 249 A pair of gilded brass and onyx chamber candlesticks £10.00 - £20.00
- 250 A quantity of watches, pocket watches (some a/f) etc. £20.00 - £30.00
- 251 2 brass stagecoach horse ornaments £10.00 -£20.00
- 252 A large quantity of sword styled tooth picks/skewers/letter openers £10.00 - £20.00
- 253 A quantity of 19 and 20th century corkscrews 2 with brushes £20.00 - £30.00
- A silver pocket watch with silver chain and gold watch (both in need repair) £30.00 - £40.00
- 255 A small mahogany mantle clock £10.00 £20.00
- 256 2 art glass vases £10.00 £20.00
- 257 4 hip flasks
- 258 A box of ornamental dagger/letter openers £15.00 £20.00
- 259 An AA car badge £10.00 £20.00
- 260 An Olympus trip 35 camera £15.00 £25.00
- 261 A pair of Doulton Staffordshire style dogs £10.00 -£20.00
- 262 1816 Georgian silver tea spoon and 3 others 1 unmarked £20.00 - £30.00
- 263 2 patinated brass lizards £10.00 £20.00
- 264 3 Hohner harmonicas £10.00 £20.00
- 265 Quantity of old teaspoons with polished stones at end £10.00 £20.00
- 266 An unusual Tavern puzzle £10.00 £20.00
- 267 Pair of lion chamber sticks £15.00 £25.00
- 268 A quantity of lighters in vintage tin £10.00 £20.00
- 269 Pair of bisque figures etc. £15.00 £25.00
- 270 Silver cigarette case, matchbook holder and 3 others £20.00 £30.00
- 271 Diving figure car mascot and Sunbeam car badge £10.00 £20.00

- 272 Brass cherub door knocker, crested china cat and tortoise paperweight £15.00 £25.00
- 273 A bullwhip £10.00 £20.00
- 274 A collection of lighters including Zippo and musical £15.00 £25.00
- 275 4 replica swords £20.00 £30.00
- 276 Large pair of textile scissors £10.00 £20.00
- 277 Large quantity of bottle openers £10.00 £20.00
- 278 Large collection of lighters £10.00 £20.00
- 279 Collection of shoe horns, paperknives etc. £10.00 £20.00
- 280 Large collection of lighters £10.00 £20.00
- 281 Quantity of paper knives £10.00 £20.00
- 282 Quantity of various pipes £10.00 £20.00
- 283 Kukri and other daggers and knives £15.00 £25.00
- A box of electrical items £10.00 £20.00
- 285 2 boxes of miscellaneous figures etc £15.00 £20.00
- 286 A HP printer £10.00 £20.00
- 287 2 boxes of match box construction sets etc £10.00 - £20.00
- 288 A box of assorted clocks £10.00 £20.00
- 289 A box of miscellaneous items £10.00 £20.00
- 290 2 electric heaters £10.00 £20.00
- 291 A box of good linen and lace £10.00 £20.00
- 292 A free rider mobility scooter £60.00 £80.00
- 293 A vintage suitcase £10.00 £20.00
- 294 A circular white kitchen table £10.00 £20.00
- 295 A large suitcase, one other and a vanity case £10.00 £20.00
- 296 A quantity of copper clocks, a wooden clock and a book on clocks £10.00 £20.00
- 297 A silver plated sweet meat centre piece £20.00 £30.00
- 298 A round glass topped coffee table with 4 table insets £20.00 £30.00
- 299 3 decorative items of pottery including Leonardo £10.00 - £20.00
- 300 A heavy globe clock, a brass jug and a copper and brass biscuit barrel £10.00 £20.00
- 301 17 Pendelfin figures including 'Ruby Anniversary' and 'Christmas Cabin' £20.00 - £30.00
- 302 A large quantity of CD racks and CD's £25.00 -£30.00
- 303 2 posters and 2 old ordnance survey maps £10.00 £20.00
- 304 A 'Sphinx' mantel clock and a Juliana winged figure £15.00 £20.00
- 305 An adjustable bedside trolley £10.00 £20.00

- 306 A wall hanging £10.00 £20.00
- 307 A boxed bronze art gallery fairy figurine £10.00 £20.00
- 308 2 martingales with 14 horse brasses £10.00 £20.00
- 309 A Duchess tea and dinner service £20.00 £30.00
- 310 5 large weights and 3 flat irons £10.00 £20.00
- 311 A box of clock parts £10.00 £20.00
- 312 A box of playing cards £10.00 £20.00
- 313 A box of miscellaneous including tools £10.00 £20.00
- 314 A box of assorted clocks £10.00 £20.00
- 315 A box of toys including remote control car, Pirates of the Caribean figures etc £10.00 £20.00
- 316 A long wooden stool £10.00 £20.00
- 317 2 jam pans and contents £10.00 £20.00
- 318 A quantity of toys including steam traction engine £10.00 - £20.00
- 319 A large box of assorted furs £10.00 £20.00
- 320 A box of assorted clocks £10.00 £20.00
- 321 3 boxes of assorted books £10.00 £20.00
- 322 A quantity of DVD players etc £10.00 £20.00
- 323 A collection of vintage CB radios (2 boxed) £10.00 -£20.00
- 324 A quantity of electrical items including new fryer for one £10.00 - £20.00
- 325 2 headphone set and a pair of binoculars £10.00 £20.00
- 326 A quantity of boxed porcelain dolls including Marie Osmond classic doll £10.00 - £20.00
- 327 An ornate umbrella stand with umbrellas and sticks £10.00 £20.00
- 328 3 cased camera's including Pentagon £10.00 -£20.00
- 329 A quantity of assorted clocks £10.00 £20.00
- 330 A Sanyo television £20.00 £30.00
- 331 A quantity of country style figures £10.00 £20.00
- 332 2 oriental vases, a/f £10.00 £20.00
- A quantity of Spode blue and white plates and 2 blue and white shredded wheat dishes £10.00 £20.00
- A pretty Kundo anniversary clock £10.00 £20.00
- 335 A dark wood cabinet / magazine rack £20.00 £30.00
- A quantity of replica pistols and daggers etc £10.00 - £20.00
- A quantity of lamp shades and chimneys £10.00 £20.00
- 338 2 wooden plant stands £10.00 £20.00
- 339 2 wooden cats £10.00 £20.00

- 340 2 brass topped cribbage boards £10.00 £20.00
- 341 2 puppets and 3 trolls £10.00 £20.00
- 342 A Colombia Grafinola gramaphone, a/f £20.00 -£30.00
- 343 Approximately 55 pieces of Meakin table ware £20.00 - £30.00
- A brass Lincoln Imp door knocker, a pair of Victorian candlesticks, brass bell etc £20.00 -£30.00
- 345 A set of fire irons and a mirror £20.00 £30.00
- 346 A flat screen television £20.00 £30.00
- 347 4 boxes of books £10.00 £20.00
- 348 4 boxes of books £10.00 £20.00
- 349 2 boxes of wall paper £10.00 £20.00
- 350 A mixed lot of brass ware
- 351 A quantity of fruit decorated table ware including Royal Worcester £10.00 - £20.00
- 352 A folding fire guard £8.00 £10.00
- 353 A small stool £5.00 £10.00
- 354 A quantity of novelty clocks £10.00 £20.00
- 355 A quantity of thimble cases £10.00 £20.00
- A large Pendelfin house, car etc, 5 pieces £30.00 £40.00
- 357 A large collection of Royalty items including stamps, coins, scrapbook etc £10.00 £20.00
- 358 A single chair £5.00 £10.00
- 359 A quantity of clocks including wall clocks £10.00 £20.00
- 360 9 small oils on board and canvas of various scenes by various artists £20.00 £30.00
- 361 A quantity of camera's and photographic equipment including Olympus £20.00 £30.00
- 362 A Britannia plate bowl with lions head handles and lions paw feet £10.00 £20.00
- 363 An old bedside cabinet £8.00 £10.00
- 364 A quantity of guitar parts £10.00 £20.00
- 365 An lawa stereo system £10.00 £20.00
- 366 A collection of maps including ordnance survey
- 367 A quantity of Pendelfin figures, some boxed £20.00 £30.00
- 368 A silver plated spirit kettle and a silver plated ice bucket £25.00 - £35.00
- 369 A bedside cabinet £10.00 £15.00
- 370 A box of brassware including paper knives £10.00 £20.00
- 371 A quantity of vases £10.00 £20.00
- 372 A 2 door filing cabinet £20.00 £30.00
- 373 A pine blanket box £20.00 £30.00
- 374 A drop leaf table £10.00 £20.00
- 375 A Jones sewing machine in case and a Singer

sewing machine in case £15.00 - £20.00

- 376 A 2 tier trolley £10.00 £20.00
- 377 A smoked glass TV cabinet £10.00 £20.00
- 378 A green velour pouffe £5.00 £10.00
- 379 A 19070's 'Brenner of Shoreditch' retro sideboard £20.00 £30.00
- 380 2 retro cabinets £10.00 £20.00
- 381 A TV display cabinet £10.00 £20.00
- 382 An army dress uniform £20.00 £30.00
- 383 2 brass head walking sticks and a novelty pool cue stick £10.00 - £20.00
- 384 A glass top desk £10.00 £20.00
- 385 A large quantity of electronics including 'Thomson Stereo', Acer laptop etc £10.00 £20.00
- 386 A computer tower, printer, 2 keyboards and a box of leads £10.00 £20.00
- 387 2 oil on board continental scenes, both signed £10.00 £20.00
- 388 A framed picture of Beverley Market Place £10.00 -£20.00
- 389 A large quantity of books including 'The Blessed Life' etc £10.00 - £20.00
- 390 A quantity of kitchen electronics including Kenwood smoothie maker £10.00 - £20.00
- 391 19 glass bonsai trees £10.00 £20.00
- 392 2 pairs of modern cream pattern curtains, 6' x 3'8" and 6' x 5'6" £10.00 - £20.00
- 393 3 boxes of mainly children's annuals and books £10.00 - £20.00
- 394 A large quantity of carriage clocks £10.00 £20.00
- 395 A Benzing automatic timing clock (in working order) £20.00 £30.00
- 396 5 sets of retro shot glasses £10.00 £20.00
- 397 A dresser top with art nouveau glass doors and with key £20.00 - £30.00
- 398 8 Lilliput Lane cottages £30.00 £50.00
- 399 A box of miscellaneous metalware including toffee hammers, horse brasses etc £10.00 - £20.00
- 400 A box of artist material's including paintings £10.00 - £20.00
- 401 A framed and glazed print of a street scene £10.00 - £20.00
- 402 A Technics stereo with a few 45 rpm records £10.00 £20.00
- 403 A Smith's 8 day Westminster chime mantel clock with pendulum and key £10.00 £20.00
- 404 A Bentina 8 day Westminster chime mantel clock with key £10.00 - £20.00
- 405 8 boxed Lilliput Lane cottages £20.00 £30.00
- 406 2 boxes of antique reference books and auction catalogues £10.00 £20.00

- 407 An oval bevel edged mirror in oak frame, a/f £10.00 444 - £20.00
- 408 2 weekend cases, wallets, purses etc £10.00 £20.00
- 409 A quantity of old carrot sacks £10.00 £20.00
- 410 Withdrawn
- 411 A quantity of brass weights etc £10.00 £20.00
- 412 3 DVD players etc £10.00 £20.00
- 413 12 boxed Lilliput Lane cottages £20.00 £30.00
- 414 3 barometers (2 glass a/f) £20.00 £30.00
- 415 An ISIS TV with sky HD box £30.00 £30.00
- 416 A box and a suitcase of LP and 78 rpm records £10.00 £20.00
- 417 2 large boxes of tools etc £10.00 £20.00
- 418 A small vintage cabinet £10.00 £20.00
- 419 A Lilliput Lane Royal Train at Sandringham £30.00 - £40.00
- 420 A quantity of clocks including 1930's porcelain mantel clock £10.00 £20.00
- 421 7 wooden mantel clocks £10.00 £20.00
- 422 A large quantity of quartz clock parts £10.00 £20.00
- 423 A pair of handled vases £10.00 £20.00
- 424 An Adams cup and saucer decorated with fighting cocks £10.00 £20.00
- 425 3 boxes of classic CD's £20.00 £30.00
- 426 A display cabinet £10.00 £20.00
- 427 A quantity of decorative clocks £10.00 £20.00
- 428 A stand for stereo and records £10.00 £20.00
- 429 A framed Chinese silk and a framed Cash's silk £10.00 - £20.00
- 430 A large wooden table lamp £10.00 £20.00
- 431 A quantity of glass including a funnel £10.00 £20.00
- 432 A hexagonal table £20.00 £30.00
- 433 A framed tapestry £20.00 £30.00
- 434 A quantity of mirrors £10.00 £20.00
- 435 A quantity of blow lamps etc £10.00 £20.00
- 436 A brass fire curb £10.00 £20.00
- 437 3 boxed camera's including Polaroid £10.00 -£20.00
- 438 A quantity of model ships etc £10.00 £20.00
- 439 4 boxes of books and auction catalogues £10.00 £20.00
- 440 3 boxes of jigsaw puzzles £10.00 £20.00
- 441 An oil on board study of 3 wolves £10.00 £20.00
- 442 A collection of 5 framed and glazed prints including Monet £10.00 - £20.00
- 443 3 Beswick bowls £10.00 £20.00

- An empty vintage photo album with wood front £10.00 - £20.00
- 445 6 Lilliput Lane heritage models including Big Ben and Edinburgh Castle £20.00 - £30.00
- 446 3 plaster wall plaques £10.00 £20.00
- 447 Spare lot
- 448 A large picture of John Wayne £10.00 £20.00
- 449 A mixed lot of ephemera £10.00 £20.00
- 450 A mixed lot of brass and copper including warming pans £10.00 - £20.00
- 451 A box of miscellaneous including clocks, cutlery etc £10.00 - £20.00
- 452 A box of toys and cricket gear etc
- 453 A vintage photographic enlarger £10.00 £20.00
- 454 A box of gym equipment £10.00 £20.00
- 455 A large Philips flat screen television £20.00 -£30.00
- 456 A twin pedestal dining table £20.00 £30.00
- 457 A Price Kensington teapot and a Henry VIII jug £10.00 - £20.00
- 458 A large fan and a dagger £10.00 £20.00
- 459 A 19th century Staffordshire jug £10.00 £20.00
- 460 A good quality modern oak circular dining table £20.00 - £30.00
- 461 A set of 6 dining chairs including 2 carvers £30.00 -£40.00
- 462 A pair of chairs with rush seats £10.00 £20.00
- 463 A pine kitchen table £20.00 £30.00
- 464 A tin trunk and contents £10.00 £20.00
- 465 A black swivel office chair £10.00 £20.00
- 466 4 kitchen chairs £10.00 £20.00
- 467 A fold over extending table £10.00 £20.00
- 468 2 boxes of books £5.00 £10.00
- 469 A cottage style 2 seat settee £10.00 £20.00
- 470 A Country court Westminster chime wall clock £10.00 - £20.00
- 471 A London Clock Co., Wall clock £10.00 £20.00
- 472 5 shabby chic style wall clocks £10.00 £20.00
- 473 A Lincoln 31 day wall clock £10.00 £20.00
- 474 An oak effect kitchen wall clock £10.00 £20.00
- 475 A Solaris 31 day wall clock £10.00 £20.00
- 476 A pine Waterloo wall clock £20.00 £30.00
- 477 A Prime time quartz wall clock £10.00 £20.00
- 478 A quartz Westminster chime wall clock £10.00 £20.00
- 479 A brown velvet effect sofa £20.00 £30.00
- 480 A reclining arm chair £10.00 £20.00
- 481 2 religious themed prints £10.00 £20.00
- 482 A brushed brass effect uplighter standard lamp

£10.00 - £20.00

- 483 A quantity of interesting items including glass vase £10.00 £20.00
- 484 A mahogany effect TV cabinet £10.00 £20.00
- 485 A box of miniature books £10.00 £20.00
- 486 A set of 6 brown leather dining chairs £20.00 £30.00
- 487 A set of 4 dining chairs £10.00 £20.00
- 488 A pair of bedroom chairs £10.00 £20.00
- 489 A set of 5 red seated dining chairs £10.00 £20.00
- 490 3 dining chairs £10.00 £20.00
- 491 A 2 sector settee £10.00 £20.00
- 492 A seater leather settee £20.00 £30.00
- 493 A 2 seater sofa £10.00 £20.00
- 494 An armchair £10.00 £20.00
- 495 A leather 3 seat sofa and chair £20.00 £30.00
- 496 A 2 seater leather sofa, a pouffe and 4 cushions $\pounds 20.00 \pounds 30.00$
- 497 A quantity of gun parts £10.00 £20.00
- 498 A large quantity of small suitcases £10.00 £20.00
- 499 A dictionary of classical antiques and miscellaneous items £10.00 £20.00
- 500 An Edwardian cottage scene tea set £10.00 £20.00
- 500A A green garden table and 6 chairs £20.00 £30.00
- 500B A leather picture of horses ploughing £10.00 \pounds 20.00
- 501 no lot £10.00 £20.00